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o Use Division or Long Division (ignoring the decimal point)

o Then put the decimal point in the same spot as the dividend (the
number being divided)

Review: https://www.mathsisfun.com/dividing-decimals.html

Divide:
1) 9.84 by 8

2)16.52 by 7
3)89.1+5

4) 1593 by 3
5) 6444 -9
6) 90.93 + 3
7) 8438 +5
8) 13.5by 3
9) 342by 6
10)18.4 by 8
11)7.4 by 2
12)18.7 by 2
13)28.9 by 7
14)1.9 by 2
15)150.4 by 3


https://www.mathsisfun.com/long_division.html
https://www.mathsisfun.com/dividing-decimals.html

16) A box of 6 individual servings of oatmeal has a mass of 170.4 g.
What is the mass of 1 serving?



